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Wigadr= JATT 30:70:50 3T, FEUNE 3:7:5 38, faum=n 9% 210 30 373,

= A% 3TsRH 3k, Tk, Sk W, 3k + 7k + 5k = 210
. 15k = 210
Lk =14

TEUS JTeGET THT = 3k = 3 X 14 = 42 ¥

Qo= A®T = 7Tk = 7 X 14 = 98 ¥, HWEH= %61 = 5k = 5 X 14 = 70 39
3. Aiared, TR ITTer Hineft A Skt 2400, 5200 T 3400 ¥ AT SAGHR TS

ST, T 50% T ST, A1 A HET ATed Tl ? Al Shigd 7 oaT JeoaT qur<a

IS HTSaaTd Hesadtt, T Jcehie! JeoaT auiand! Hriigrl fohd! et ?
I : THU ST = 2400 + 5200 + 3400 = 11000 TR

T WreaaaX 50% T ST,

11000 50
T A = = 5500
ATSTATAT YA %1 SR 3778,

SruET At S YT G T A,

Wi SHOT = 2400 : 5200 : 3400
=24 :52: 34 (100 7 9r)
=12 226: 17 (2 9 9TA)
FRATEAET 61 =12p, AFWTET T = 26p, HAT&=1 9% = 17p HA,
00
S 12p + 26p + 17p = 55p = 5500 . p = Si_—s = 100

;. FRarEAEt F6 = 12 X 100 = 1200, STF9m=1 9% = 26 X 100 = 2600 9
Hiieft=n 9% = 17 x 100 = 1700,
THT FIgd 7 =1 1 Hisddd Hesaen @ YAHE A9 Higad HIg.
Yed1 auiETel ditareqd Wigad = 2400 + 1200 = T 3600
Y=l ISl AN Higad = 5200 + 2600 = T 7800  ATIT d EHYJol T .
Yol autErdl WA 9rgad = 3400 + 1700 = T 5100
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Std - Seventh  Sub - Maths (Semi)

| 9 || Direct Proportion and Inverse Proportion

Example Abdul, Sejal and Soham each gave Sayali 30 rupees, 70 rupees and revision
50 rupees respectively. Sayali put in 150 rupees and bought paper, colours, etc.
Together they made greeting cards and sold them all. If they made a total profit
of 420 rupees, what was each one’s share in the profit ?

Solution: The capital invested by all four was 300 rupees. Of this Sayali had invested
150 rupees, that is, half of the capital. The total profit was 420 rupees.
So, Sayali’s profit was half of that, i.e., 210 rupees. The remaining 210 was
shared by Abdul, Sejal and Soham.

Abdul, Sejal and Soham’s investment is 30, 70 and 50 rupees. The proportion
is 30:70:50 i.e. 3:7:5. Their share of the profit is altogether 210 rupees.

Let their individual profit be 3k, 7k, 5k. Then, 3k + 7k + 5k = 210

15k =210
k=14
Abdul’s profit = 3k = 3 x 14 = 42 rupees.
Sejal’s profit = 7k = 7 x 14 = 98 rupees.
Soham’s profit = 5k = 5 x 14 = 70 rupees.

Example Saritaben, Ayesha and Meenakshi started a business by investing 2400,
5200 and 3400 rupees.They made a profit of 50%. How should they share
it? If they reinvest all their profit by adding it to the capital, what will each
one’s share be in the following year?

Solution: Total capital = 2400 + 5200 + 3400 = 11000 rupees.
Profit 50%

We simplify the ratio of two numbers by dividing by a common factor.
The same can be done for 3 or more numbers.

Proportion of shares = 2400 : 5200 : 3400

[InownJinb

=24:52:34 (dividing by 100)

=12:26:17 (dividing by 2)
Assume that Saritaben’s profit =12p, Ayesha’s profit =26p, Meenakshi’s profit =17p.
. 12p + 26p + 17p = 55p = 5500 - p = % = 100

. Saritaben’s profit = 12 x 100 = 1200, Ayesha’s profit = 26 x 100 = 2600 and
Meenakshi’s profit = 17 x 100 = 1700.
If they add their profit to the capital, their further investments will be :
Saritaben’s capital = 2400 + 1200 = ¥ 3600
Ayesha’s capital = 5200 + 2600 = X 7800
Meenakshi’s capital = 3400 + 1700 = 5100

understand.
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5. Form pairs. Each person in the pair writes down a simple story, news item, report,
etc. Then one of the partners tries to tell it to the other person. The other person
shows through gestures that he is not interested — by yawning, looking away,
frowning, doing something else, etc.

Repeat the activity after changing the roles of the listener | Whatdo
you eat? Three

and the speaker. Then prepare two tables. booKks.

o How to be a good listener.

o How NOT to be a good listener.

6. Play the game of Right question, wrong answer : Which

Form pairs : One person puts any one question to the other.| pooks? On the

The other person has to give a wrong answer QUICKLY. b

He / She is out if he / she gives the relevant /

correct answer, or waits too long to give an answer.

Example : Can you

A: How much water do you need ? climb Of
trees?

B: Near S. P. College. ‘ course!

A: Where’s S. P. College? ‘ef

B: Attwo o’clock. N

A: Who was there?

B: Idon’tknow. g

A: Out! , "‘

understand.
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Std - Seventh Sub - General Science (Semi)

11. Cell Structure and Micro-organisms

' What is the name of the minute components of which the
Let’s recall. : body of a living organism is made? Is the number of these
" smallest units the same in the bodies of all living organisms ?

Cell

We have learnt that cellular organization is the primary characteristic of all
living organisms and that the cell is the fundamental structural and functional unit
of living organisms.

Complete the flow chart:

—> | Words | —| Sentences |—> —>| Chapters [— [Book

We see the structural organization of a book in the above flow chart. Similarly,
there are organizational levels in living organisms, too. These are : cells, tissues,
organs, organ systems, organism. Cells form the basis of the structure
and function of all living organisms. It is only with the help of cells
that living organisms carry out all their different life processes.

Where do the life processes of
unicellular organisms take place?

) Tissue Organ

e e
=) M.Illlllw ’
/ 11.1 Organization in living organisms

In 1665, a scientist, Robert Hooke
observed a thin section of cork under a
§ microscope. In this section, he saw
¥ hexagonal compartments like those of a
| bee-hive. He named those compartments
‘cells’. This term is derived from the Latin
word ‘cella which means ‘small room’.

/Grcat Scientists

.

In 1838, the two scientists M. J. Schleiden and Theodore
Schwann formulated a theory about cellular structure which _ |

1

stated, ‘All the living organisms are made up of cells and ‘“Ef: >l
the cell is the fundamental component of living organisms’.
In 1885, Rudolph Virchow stated that all cells are formed

\from pre-existing cells. J
understand.
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